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 �����1 

▪l^éŞÃÚ<<<<<<<<<<<V1 1 1 1( ) 1 . ; ( ) 12 . ; ( ) 14 . ; ( ) 16 .M H g mol M C g mol M N g mol M O g mol− − − −= = = =<< <
1D äÛ³_<Üm<êÖ^jÖ]<Ùæ‚¢]<ØÏÞ_V 

 
 
 
 
 
 
 
2D “Ö^¤]<ÔèçÞ^nèý]<˜·2 4 2C H O<êâ<íéÛr£]<äj×jÒ<Øñ^‰<11,05 .g mLµ −=J 

<^ãÛru<íßéÂ<»<ÔèçÞ^nèý]<˜Û£<ì�^¹]<íéÛÒ<gŠu_22 V mL=<J< <

3D �]†èì�^¹]<íéÛÒ<„}_<0,12 n mol=áçÞ^eæ�Ö]<àÚ<3 6C H OíéÛr£]<äj×jÒ<HØñ^‰<10,79 .g mLµ −=J 
[ä‰^éÏÖ<^�^ÛÃj‰]<àÓµ<�Ö]<íéq^qˆÖ]<íéÞû]<^Ú<[å„}_<êÇfßè<ë„Ö]<Ür£]<^Ú< <

< <
 �����2 

▪l^éŞÃÚ<<<<<<<<<<<V1( ) 4,0 . ; 8,314 (u . . .)M He g mol R S I−= =< <

1D <¼Ç–Ö]<k 51,20.10p Pa= <ì…]†£]<íq…�<‚ßÂ<æ<22 Cθ = °<<Ür£]<°rŠÒù]<êñ^ßm<àÚ<íßéÂ<ØÇ�i<H0,31 V L=J 
íßéÃÖ]<å„â<»<°rŠÒù]<êñ^ßm<ì�^Ú<íéÛÒ<gŠu_J< <

2D í×jÓÖ]<î×Â<áçÖ^e<ëçj¬25,1.10  m g=Æ<àÚ<Ýçé×�]<‡^HeJ 
_<I  áçÖ^fÖ]<»<Ýçé×�]<ì�^Ú<íéÛÒ<gŠu_J< <

h<I  <Å^Ëi…÷]<‚ßÂ<^ãÛru<gŠu_6 km <êâ<ì…]†£]<íq…�<oéu<<10 Cθ = − °çâ<¼Ç–Ö]<æ< 44,1.10p Pa=J 

3D <ä×Ç�è<ë„Ö]<Ür£]<gŠu_0,25 mol<oéu<½æ†�<»<læ‡ù]<êñ^ßm<‡^Æ<àÚ<çâ<êÖç¹]<Ür£]124,0 .mV L mol −=J 
< <

 �����3 

▪l^éŞÃÚ<<<<<<<<<<<V1 1 1 1( ) 1 . ; ( ) 12 . ; ( ) 16 . ; ( ) 126,9 .M H g mol M C g mol M O g mol M I g mol− − − −= = = =< <
1D äÛ³_<Üm<êÖ^jÖ]<Ùæ‚¢]<ØÏÞ_V 

 
 
 
 
 
 
 
 
2D <Ür£]<�– <�]†è250,0 V mL=<ÔèæˆßfÖ]<˜Û£<êñ^Ú<Ùç×¦<àÚ<7 6 2C H OêÖç¹]<åˆéÒ†i< 2 11,6.10  .c mol L− −=J 

�–vjÖ]<]„ãe<Ý^éÏ×Ö<íé×ÛÃÖ]<íÏè†ŞÖ]<íÎ‚e<Ì‘J< <

êñ^éÛéÓÖ]<ÅçßÖ]< <ð^¹]< <ÙçÞ^nèý]< <ÙçÚ^jé‰]…^fÖ]< <
Ö]íéÖ^¶ý]<íÇé’< << <

2 6C H O<< <8 9 2C H O N< <

Ö]<<<<<<<<<<<<<<<<<<<<<<<<<<í×jÓm(g) 3,6 < <0,63 

Ö]<<íéÖç¹]<í×jÓM(g/mol) < << << <

<ì�^¹]<íéÛÒn(mol)        < <0,12 < <

êñ^éÛéÓÖ]<ÅçßÖ]h]„¹]<< <<�çéÖ]<êñ^ßm2I<< <‡çÓé×ÇÖ]6 12 6C H O< <‡æ…^ÓŠÖ]12 22 11C H O< <

Ö]<<<<<<<<<êÖç¹]<ˆéÒ� c(mol/L)< << << <0,100 

<ì�^¹]<íéÛÒn(mol)            < <23,00.10−< <24,00.10− 

<<<<<<<<<<<<<<<<<<<<Ùç×�]<ÜruV(mL) 100< <250< << <

<<<<<<<<<<<<<<<<<<<<<<<h]„¹]<í×jÒm(g) < < < <

<<<<<ê×jÓÖ]<ˆéÒ�Ö] cm(g/L)<< <0,20  < <
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 �����4 

�çéÖ]<êñ^ßm2I<<‚ßÂ<äjéÞ^eæƒ<Hð^¹]<»<á^eæ„Ö]<Øé×Î<êñ^éÛéÒ<ÅçÞ25°C <êâ1
1 0,34 .s g L−=<<J<<<<<<<<

<áç×Ö]<êÖ^Ïi†e<si^ßÖ]<Ùç×�]E_D<J<á^ŠÓâç×ÓéŠÖ]<»Eëç–Â<gè„Ú<D�Ò_<äjéÞ^eæƒ<V<‚ßÂ25°C <<<<<<<<<<<<

<êâ1
2 28 .s g L−=<<J<áç×Ö]<ë�…æ<si^ßÖ]<Ùç×�]EhDJ< <

▪l^éŞÃÚ<<<<<<<<<<<<<V1( ) 126,9 .M I g mol −=< <

<<<á^ŠÓâç×ÓéŠÖ]íéÛr£]<äj×jÒ<æ<ð^¹]<ÄÚ<t]ˆjÚøÖ<Øe^Î<�Æ<<<<<<V10,78 .g mLµ −=< <
1D <‚ßÂ25°C<íe]ƒc<àÓµ<Øâ<<H<100 mg<»<�çéÖ]<êñ^ßm<àÚ150 mLV 

_Ið^¹]<àÚ<<<<<<<<<<؛h<<<<<<<<<<<I[<á^ŠÓâç×ÓéŠÖ]<àÚ<<<< <
2D »<�çéÖ]<êñ^ßnÖ<î’Îù]<êÖç¹]<ˆéÒ�Ö]<gŠu_V 

_I<<<<<<<ð^¹]<<<؛h<<<<<<<<<<<Iá^ŠÓâç×ÓéŠÖ]<<<J< <
3D êñ^Ú<Ùç×¦<àÚ<�çéÖ]<êñ^ßm<t]†~j‰]<àÓµ<ÌéÒ<|†�c<J<]�‚¦<^ã�…_<[^�^ÛÃj‰]<êÇfßè<�Ö]<íéq^qˆÖ]<íéÞû]<^Ú°¿uø¹]<àè…çŞÖ]J< <

< <
 �����5 

<ÔèçÞ^né¹]<˜Û£<ˆÒ†Ú<êñ^Ú<Ùç×¦<î×Â<ì…æ…^Î<ëçj 2 2H COJl^Þ^éfÖ]<ì…æ…^ÏÖ]<å„â<Ð’×Ú<ØÛ¬<íéÖ^jÖ]<V< <
Ið^Û×Ö<ífŠßÖ^e<íÊ^nÓÖ]<<<<<<V<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<1,18d =<< <
Iíé×jÓÖ]<íèçò¹]<ífŠßÖ]<<V<<<<<<<80,0% 0,800P = =< <

▪l^éŞÃÚ<<<<<<<<<<<V1 1 1( ) 1 . ; ( ) 12 . ; ( ) 16 .M H g mol M C g mol M O g mol− − −= = =< <

ð^Û×Ö<íéÛr£]<í×jÓÖ]<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<V3 11,00.10  .e g Lµ −=< <
< <
1D íéÖ^jÖ]<íÎøÃÖ]<ÐÏ¬<Ùç×�]<]„â<»<ÔèçÞ^né¹]<˜Û£<êÖç¹]<ˆéÒ�Ö]<á_<°e<V 

2 ( ) ( ) 2 ( )
eP d

c
M H M C M O

µ⋅ ⋅=
+ +

 

l^éŞÃ¹]<íÎ�<ì^Â]†Ú<ÄÚ<ë�‚ÃÖ]<ÐéfŞjÖ]<ˆ¨_<ÜmJ< <

2D ñ^Ú<Ùç×¦<î×Â<Ùç’£]<�]†èêäÛru<ÔèçÞ^né¹]<˜Û£<1 100,0 V mL=<åˆéÒ†i<æ<1
1 2,0 .c mol L−=ˆÒ†¹]<Ùç×�]<ÌéË~je<J 

_<I  Ür£]<^ÚV<�]<àÚ<å„}_<êÇfßè<ë„Ö][ˆÒ†¹]<Ùç×< <
h<I  ÌéË~jÖ]<]„â<‡^¨ý<í×ÛÃjŠ¹]<íéq^qˆÖ]<êÞ]æù]<æ<íé×ÛÃÖ]<íÏè†ŞÖ]<Ì‘J 
< <

 �����6 

<ì…]†£]<íq…�<‚ßÂ20 Cθ = °<¼Ç–Ö]<k <æ<51,013.10p Pa= H…çe†Òæ…‚éâ<íÊ^nÒ<HäjÇé‘<2 2n nC H +H<<êâ2,00d =<<J< <

▪l^éŞÃÚ<<<<<<<<<<<V1 1( ) 1 . ;  ( ) 12 . ;  8,314 (u . . .)M H g mol M C g mol R S I− −= = =< <

<åøÂ_<½æ†�Ö]<»<ð]çã×Ö<íéÛr£]<í×jÓÖ]<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<V11,21  .a g Lµ −=< <
1D í‰æ…‚¹]<½æ†�Ö]<»<l]‡^Ç×Ö<êÖç¹]<Ür£]<gŠu_J 
2D …çe†Òæ…‚éã×Ö<íéÖç¹]<í×jÓÖ]<�‚uJ 
3D <sjßj‰]íéÖ^¶ý]<äjÇé‘J 
4D gÒ†¹]<]„�<íßÓÛ¹]<ì…ç�ß¹]<Ì’Þ<Èé’Ö]<gjÒ_J 




